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HDCPERR: (58) (%) =
B4z B 2 4 e OUT IN GROSS HDCP  NET B4 Bty A& e OUT IN GROSS HDCP  NET
B HHE BE 47 47 94 26.0 68.0 Mz BrO  EH 53 54 107 20.0 87.0
B TR Fioh 51 53 104 33.0 71.0 4261t Bz 50 59 109 22.0 87.0
M s+ FEsA 50 49 99 27.0 72.0 4361 BH#  BR 60 57 117 30.0 87.0
M /it BEAER 42 52 94 21.0 73.0 M Il BX 53 52 105 17.0 88.0
S RFD HEAER 51 45 96 22.0 74.0 5 EH EBEF 55 51, 106 18.0 88.0
66 HKH 5 54 47 101 27.0 74.0 464 SRR E 59 55 114 26.0 88.0
M = #iF 48 52 1000 25.0 75.0 4761 #kH 8K 52 53 105 16.0 89.0
8 HNH &% 46 46 92 16.0 76.0 4861 RE Fo 60 49 109  20.0 89.0
i HE #%H= 47 46 93 17.0 76.0 4961 /N —Bf 56 54 110 21.0 89.0
106 EF #82 48 47 95 18.0 77.0 506 AR #H 55 59 114 23.0 91.0
146 % R 48 47 95 17.0 78.0 51z #2H FNE] 53 63 116, 24.0 92.0
1260 Bk —¢ 50 47 97 19.0 78.0 5261 /ha  {E— 62 58 120 28.0 92.0
136 [T F= 48 54 102 24.0 78.0 53t A JHH 55 59 114 20.0 94.0
1461 K EFE 47 51 98 19.0 79.0 b4 #EH & 57 59 116 22.0 94.0
15 & BR1T 45 54 99  20.0 79.0 bofsr R[S 57 61 118 23.0 95.0
1662 518F  IEfd 48 49 97 17.0  80.0 56 EX Fth 57 56 113 16.0 97.0
176 3K = 52 48 100 20.0 80.0
1861 ®I A% 49 48 97 16.0 81.0
1962 1E"]  #0Xk 48 49 97 16.0 81.0
20z AE HC2 46 54 100 19.0 81.0
2161 fipits OB 47 53 100 19.0 81.0
22(i #H RC 50 51 101 20.0 81.0
26 Tk E 49 53 102 21.0 81.0
2460 K& EE 53 49 102 21.0 81.0
250 MM IEAT 53 47 100 18.0 82.0
2660 BAF #E 52 54 106 24.0 82.0
21 HFHAH HRE 51 52, 103 20.0 83.0
284z PEE {8 49 53 102 18.0 84.0
204 HLE $E{C 51 53 104 20.0 84.0
04 M FE= 55 50 105 21.0 84.0
1 BE HF 50 55 105 21.0 84.0
241 FEi FEiR 55 52 107 23.0 84.0
ML EH 52 49 101 16.0 85.0
A BLZE {EX 50 52 102 17.0 85.0
356 I W= 55 51 106 21.0 85.0
6L EF BE 49 53 102 16.0 86.0
7L AR FOHER 52 52 104 18.0 86.0
38GL EH =E— 62 50 112 26.0 86.0
9L JTiE WX 57 57, 114 28.0 86.0
404 #4  Zish 55 48 103 16.0 87.0
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